‘ 1C E EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

SCOTSMAN ICE SYSTEM oes [ ROBERSON 1"”
HID312 ICE MACHINE ano. TH508
(COUNTERTOP MOUNTED) e 46 | 9
SEISMIC ANCHORAGE COUNTERTOP MOUNTED
/ (CINec'L?[;E; ?gNI%Ems)
]
I ]

[ ) USE 4-3/8"0 (A301)
i : ‘ BOLTS THRU COUNTERTOP
W/ STD WASHERS BOTH SIDES

2|"

_,\,
\j
=
\j
<

_V\_

Tu = 291 LB/BOLT (MAX) \
Vu = 82 LB/BOLT (MAX) - 132"
\ \/
Tu Tu

FRONT ELEVATION

NOTES:
1. FORCES ARE DETERMINED PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10
STRENGTH DESIGN IS USED. (Sps = 220, ap = 10,Ip = 15,Rp = 25, z/h < )

HORIZONTAL FORCE (En) = 158 Wp
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN.

3 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




‘ 1C E EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

\._—_/SCOTSMAN ICE SYSTEM i I
HID312 ICE MACHINE woro  THIOOS
(COUNTERTOP MOUNTED) o 45| 9
SEISMIC ANCHORAGE COUNTERTOP MOUNTED

(INCLUDES CONTENTS)
/_ ¥ =20"

USE 4-3/8"¢ (A307)
BOLTS THRU COUNTERTOP
W STD WASHERS BOTH SIDES

T\
Y
=

|
s
_+

62" | 063

14.5"

\j
Tu Tv

SIDE ELEVATION

LOADS: PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220,8p =10, lp = 15,Rp = 25, zh <)
WEIGHT = 183 LB

HORIZONTAL FORCE (En) = 158Wp = 289 LB BOLT SPEC: 3/8"¢ (A307) BOLTS
VERTICAL FORCE (Ev = 044Wp = 81 LB ¢T= 3355 LB/BOLT
BOLT FORCES: ¢V= 1723 LB/BOLT
TENSION (T)
289#(21) 289#(21(8.2") (183#(09) - 81#)(82"
T = | — ) - = 291 LB/BOLT (MAX
U MAGAM |:2 soLts(14.5”) x0 )J " 2 BoLts(13.62(14.5% 2 soLts(14.5" M)
( HORIZ. - FRONT TO BACK ) ( HORZ - SDE TO SDE ) ( QSWEGHT) - Ev)
SHEAR (V)
Vo maxvum = 289#82) = 82 LB/BOLT (MAX)

2 soLts (145"




E‘ @E" EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

SCOTSMAN ICE SYSTEM oes J. ROBERSON s:fﬂ
HID312 ICE MACHINE soeno.  11-1508
(WALL MOUNTED) e 4B | 9
SEISMIC ANCHORAGE —Ta
16"
EQ EQ

S S— T —— (INCLUDES CONTENTS)
| STRUCTURAL ENGINEER OF RECORD
SHALL DESIGN THE

BACKING PLATE (16 GA. MIN,)
/ AND THE WALL STRUCTURE
L L |

4.25"

—~ 4%
——LS. ;
o [
fo BRACKET
Tu = 237 LB/SCREW (MAX) (BY SCOTSMAN)
Vu = 107 LB/SCREW (MAX) P - VGE 4- 14 TEK SCREHS
‘I TO WALL BACKING

FRONT ELEVATION

NOTES:
1 FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10
STRENGTH DESIGN IS USED. (Sps = 220, @p = 10, lp = 15, Ro = 25, z/h < 1)

HORIZONTAL FORCE (En) = 158 Wp
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

38 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

|3II

5/8" THK. MAX

CG. NWT. = 1865 LB.

/_ (INCLUDES CONTENTS)

USE 4- #|4 TEK SCREW

/ TO WALL BACKING

>Ty

e

Vo

>Ty

145" ‘

STEEL STUD WALL SECTION

LOADS:. PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10.

WEIGHT = 188 LB
HORIZONTAL FORCE (En = 158Wp = 297 LB
VERTICAL FORCE (Ev = 044Wp = 83 LB

BOLT FORCES:

TENSION (T)
(188#(12) + 83#)(13")
T - - 84 LB/SCREW
UVBRTOA ) orens(1195")
097#(13)
T = —=9MI8) 451 B/SCREW
UPARALLEL™ ™5 s rens(16”)
097#(172"

Ty pep = = 107 LB/SCREW

4screns (1195”)

Tumax = 84# + 121# + 03(107#) = 237 LB/SCREW (MAX)
SHEAR (V)

2 2
Vi = V ( (121854 + 83#)) . ( 2974 ): 107 LB/SCREW (MAX)

4 SCREWS 4 SCREWS

STRENGTH DESIGN IS USED (Sps = 220, 8p = 10, Ip = 15, Rp = 25, z/h < 1)

SCOTSMAN ICE SYSTEM oes J. ROBERSON “255'
HID312 ICE MACHINE soeno.  11-1508
(WALL MOUNTED) e 4B | 9
SEISMIC ANCHORAGE —a

#14 TEK SCREWS TO 16 GAGE, 50 KS|

¢T= 418 LB/SCREW  (TENSION)
V= 362 LB/SCREW  (SHEAR)




www.EquipmentAnchorage.com

@Eﬂ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

SHEET
SCOTSMAN ICE SYSTEM e J ROBERSON 1
Joeno. 11-1508
HID525 ICE MACHINE
(COUNTERTOP MOUNTED) oare  4/18/15 o 2 sueers
SEISMIC ANCHORAGE COUNTERTOP MOUNTED
S =
C6. WT. = 208 LB.
/ (INCLUDES CONTENTS)
- @é“
—' I USE 4-3/8"0 (A307)
i ‘E]‘ H BOLTS THRU COUNTERTOP
= & / W/ STD WASHERS BOTH SIDES
L & E/ N
{ “=W | —f>w ?
EQ EQ
Tu = 274 LB/BOLT (MAX)
Vu = 93 LB/BOLT (MAX)
1£.62"
\ \
Tu Tu

FRONT ELEVATION

NOTES:
1 FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10
STRENGTH DESIGN IS USED. (Sps = 220, @p = 10, lp = 15, Ro = 25, z/h < 1)

HORIZONTAL FORCE (En) = 158 Wp
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

38 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com
SCOTSMAN ICE SYSTEM s ROBERSON 2*'
HID525 ICE MACHINE oovo  THIOOS
(COUNTERTOP MOUNTED) oare  4/13/15 2
OF SHEETS
SEISMIC ANCHORAGE COUNTERTOP MOUNTED
CGE. NT. = 208 | B.
(INCLUDES CONTENTS)
/ r=2"
| M
7 @
USE 4-3/8"0 (A30)
BOLTS THRU COUNTERTOP
[ / W/ STD WASHERS BOTH SIDES
} i »\/y ‘ i >\ é
I = | = 1
82" | 63"
145"
\ \/
Tu Tu
SIDE ELEVATION
LOADS; PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220, @p = 10, Ip = 15, Rp = 25, /h < )
WEIGHT = 208 LB )
HORIZONTAL FORCE (E) = 158Wp = 329 LB BOLT SPEC: 3/8' (A307) BOLTS
VERTICAL FORCE () = 044Wp = 92 LB <I>$f ?7355 LLBB//BBgLLTT
BOLT FORCES: V= 1723
TENSION (T)
309402182 3004(21) (208#(09) - 924)82"
T - - = 074 LB/BOLT (MAX
AN [1 st (66291457 )J " 2sams (45) 280075 (145) A0
( HORIZ - SDE TO SDE ) ( HORIZ - FRONT TO BACK ) ( O9WEGHT) - Ev)
SHEAR (V)
_ 320#82")
\ MO = 5= e 93 LB/BOLT (MAX)




‘ 1C E EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

SCOTSMAN ICE SYSTEM oes J ROBERSON seeT

HID525 ICE MACH’NE sosno. 11-1508 1
(WALL MOUNTED) e 4205 | o

WALL MOUNTED

SEISMIC ANCHORAGE

|6II

EQ EQ

CE.NT. = 23 LB
(INCLUDES CONTENTS)

USE 6- 1/4"0 (A30T) BOLT
g TO WALL BACKING

BRACKET
(BY SCOTSMAN)

Tu = 586 LB/BOLT (MAX) ] \ o R EER OF RECORD

Vu = 227 LB/BOLT (MAX) BACKING PLATE (16 GA. MIN)
AND THE WALL STRUCTURAL

33"

-

55"

55"

T

L

NOTES.
1. FORCES ARE DETERMINED PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sps = 220, @p = 10, Ip = 15,Rp = 25, z/h < 1)
HORIZONTAL FORCE (En) = 158 Wp
VERTICAL FORCE (Ev) = 044 Wp
2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

8 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER

LOADS THAT MAY BE PRESENT.




‘ 1C E EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

SIDE ELEVATION

LOADS: PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220, 8p = 10, p = 15,Ro = 25, zh < 1)
WEIGHT = 213 LB
HORIZONTAL FORCE (En = 158Wp = 337 LB
VERTICAL FORCE (Ev = 044Wp = 94 LB

BOLT FORCES:

TENSION (T)
Tu VERTICA= (015#(12) + 94#X12) = 191 LB/BOLT
2 goirs (11"
337#(12"(14.3")
T = — =2~ =329 LB/BOLT
UPARALLEL™ o (167119
337#(14.3"
T - —— L =219 LB/BOLT
UPERR™ 0 gairs (1)

Tymax = 19 + 3294 + 03(219#) = 586 LB/BOLT (MAX)

SHEAR (V)

2 a2
Vi = M( (12(0134#) + 94#)) . ( 337#(14.3)) - 997 LB/BOLT (MAX)
6 BOLTS 2goLts (11"

SCOTSMAN ICE SYSTEM oes_J ROBERSON 2‘“
HID525 ICE MACHINE wore 08
(WALL MOUNTED) e 4206 | D
SEISMIC ANCHORAGE NALL MOUNTED
5/8" THK. - rﬁ‘x -
WALL BOARD
\_ﬂ_
 CGeNT.=2B3LB
(INCLUDES CONTENTS)
— i e,
& ] -_E/ -7
..
| SR
v

BOLT SPEC: 1/4’¢ (A307) BOLTS

¢T= 1491 LB/BOLT
V= 807 LB/BOLT




‘ 1C E EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

SCOTSMAN ICE SYSTEM oes J ROBERSON s:iﬁ-ﬂ
HID540 ICE MACH’NE sosno. 11-1508
(COUNTERTOP MOUNTED) oare  4/18/15 o
SEISMIC ANCHORAGE COUNTERTOP MOUNTED

CG. WT. = 25 LB.

/ (INCLUDES CONTENTS)

= USE 4-3/8'0 (A30)
] . BOLTS THRU COUNTERTOP
I L.S| | |@| W STD WASHERS BOTH SIDES

I >\ $
Tu = 335 LB/BOLT (MAX) ' | '
Vu = 96 LB/BOLT (MAX)
EQ EQ
162"
\j \j
Tu Tu
ERONT ELEVATION

NOTES.
1. FORCES ARE DETERMINED PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sps = 220, @p = 10, Ip = 15,Rp = 25, z/h < 1)

HORIZONTAL FORCE (En) = 158 Wp
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

8 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




‘ 1C E EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

\._—_/SCOTSMAN ICE SYSTEM i I
HID540 ICE MACHINE woro  THIOOS
(COUNTERTOP MOUNTED) o 45| 9
SEISMIC ANCHORAGE COUNTERTOP MOUNTED

(INCLUDES CONTENTS)

/ (¥ = 245"

) USE 4-3/8"0 (A3071)
BOLTS THRU COUNTERTOP
W/ STD WASHERS BOTH SIDES
2 >y >y 3
T I 1
82" | 63"
145"
\ \
Tu TV

SIDE ELEVATION

LOADS: PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220,8p =10, Ip = 15,Rp = 25, zh < 1)
WEIGHT = 215 LB

HORIZONTAL FORCE (En) = 158Wp = 340 LB BOLT SPEC: 3/8"¢ (A307) BOLTS
VERTICAL FORCE (Ev) = 044Wp = 95 LB ¢oT= 3355 LB/BOLT
BOLT FORCES: ¢oV= 1723 LB/BOLT
TENSION (T)
340#24.5"(8.2" 340#(24.5") (215#(09) - 95#)8.2"
= | ) - = 335 LB/BOLT (MAX
Tonwon [1 sar (6621457 © 3)} " 2 sours (145) 2 souTs (145 MAY
( HORIZ - SIDE TO SIDE ) { HORIZ - FRONT TO BACK ) ( OSWEIGHT) - Ev)
SHEAR (V)
Vo maxvum = _S40#82) 96 LB/BOLT (MAX)

2oLt (145"




www.EquipmentAnchorage.com

@E" EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

SCOTSMAN ICE SYSTEM oes J. ROBERSON s:fﬂ
HID540 ICE MACHINE soeno.  11-1508
(WALL MOUNTED) % 2 P
SEISMIC ANCHORAGE —S
16"
EQ_, _EQ

CG.WTI.=2201B

|
‘ / (INCLUDES CONTENT)
{P{/ USE 6- 1/4"0 (A30T) BOLT
TO WALL BACKING

=U
Oy S
0 1: [ BRACKET
- 1 P (BY SCOTSMAN)
0y
g D
| =) = |
Tu = 707 LB/BOLT (MAX) \ gﬁlﬁig@g}.@ﬁNﬂENEER OF RECORD

Vu = 290 LB/BOLT (MAX)
BACKING PLATE (16 GA. MIN)

AND THE WALL STRUCTURAL
FRONT ELEVATION

NOTES:
1 FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sps = 220, @p = 10, Ip = 15, Rp = 25, z/h < 1)

HORIZONTAL FORCE (En) = 158 Wp
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

38 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

SCOTSMAN ICE SYSTEM s ROBERSON 2*'
HID540 ICE MACHINE woro  THOO8
(WALL MOUNTED) o 425 | QL
SEISMIC ANCHORAGE o WALL MOUNTED
AAL BOARD MAX
| I
C6.NT. =220 | B
" (INCLUDES CONTENT)
|
{;/  USE 6- I/4" (A307) BOLT
TO WALL BACKING
E >Ty
%

SIDE ELEVATION

WEIGHT = 220 LB
HORIZONTAL FORCE (En = 158Wp = 348 LB
VERTICAL FORCE (Ev = 044Wp = 97 LB

BOLT FORCES:

SHEAR (V)

LOADS:. PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220, 8p = 10, Ip = 15, Rp = 25, z/h < 1)

TENSION (T)
2 gouts (11)
348#(12"(17.9")
T, = ——— =1 =425 B/BOLT
UPRLE 1 garr (16°17)
Typep = 2819 _ a3 1 g/ROLT
2 soLts (11)

Tumax = 197# + 4254 + 03(283#) = 707 LB/BOLT (MAX)

BOLT SPEC: 1/4" (A307) BOLTS

¢T= 1491 LB/BOLT
¢V= 766 LB/BOLT

©80LTS

v V ((1.2(220#) + o7#) )2+ ( 34BH(179)
U 2 ours (1)

2
) = 290 LB/BOLT (MAX)
















	1.pdf
	HID312 (WALL MOUNTED).pdf
	HID312 ICE MACHINE (WALL MOUNTED)_calc
	2

	HID525 (COUNTERTOP).pdf
	HID525 ICE MACHINE (COUNTERTOP)_calc
	2

	HID540 (WALL MOUNTED).pdf
	1
	2

	HID540 (COUNTERTOP).pdf
	1-1.pdf

	HID525 (WALL MOUNTED).pdf
	1.pdf


